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1AL SRR
B oW B % Boo® K B K B % A A 55y b E
<7 R2 RI1 W R2 RI1 B R2 RI [ #| R2 RI1 W R2 RI1 W
1~12H 1~12H 4 % [1~12H1~128 4 | F |1~128 1~128 FAvM1~12H 1~12H A B @ = |1~12H 1~12 A B =X
i ¥ #%| 614,231 748,559 -134,328| —17.9| 279,185| 294,206 -15,021| -5.1 45.5 39.3 6.2 182,582 192,607 —-10,025| -5.2| 17,466 19,914| -2,448 -12.3
X o] 3L 4,444 4,706 -262| -5.6 4,268 4,240 28 0.7 96.0 90.1 5.9 4,291 4,225 66 1.6 522 457 65 14.2
HH e 3B 51,829 56,753 4,924 -8.7| 45,764 47,989 2,225 4.6 88.3 84.6 3.7 48,108 50,789 2,681 5.3 3,060 3,484 -424| -12.2
%5 s 8| 417,291 532,565 115,274 -21.6] 170,687 180,897 -10,210 5.6 40.9 34.0 6.9 88,464| 94,144 -5,680 —6.0 9,222 10,813| -1,591| -14.7
0 (i3 3B 34,065 36,031 -1,966/ -5.5| 18,153 19,096 -943| -4.9 53.3 53.0 0.3] 10,547 10,965 -418| -3.8 731 901 -170| -18.9
JE i ) 7,723 8,710 -987| -11.3 6,549 6,904 -355| -b.1 84.8 79.3 5.5 5,202 5,406 -204| -3.8 400 502 -102| -20.3
- > f] 98,879 109,794 -10,915| -9.9( 33,764| 35,080 1,316 -3.8 34.1 32.0 2.11 25,970 27,078 -1,108 4.1 3,531 3,757 -226| -6.0
A = B 11,726 14,160 -2,434| -17.2 6,104 6,459 =B =B 52.1 45.6 6.5 4,206 4,493 -287| -6.4 450 481 -31| -6.4
X = ) 83 104 -21] -20.2 83 98 -15] -15.3] 100.0 94.2 5.8 87 87 0 0.0 13 13 0 0.0
HH = ) 1,095 1,237 -142| -11.5 969 1,066 97 -9.1 88.5 86.2 2.3 977 1,048 -71] -6.8 80 98 -18] -18.4
ko s ) 7,476 9,231 -1,755| —-19.0 3,708 3,728 -20] -0.5 49.6 40.4 9.2 2,153 2,293 -140| -6.1 221 264 -43] -16.3
H (i3 ) 710 765 -55| 7.2 397 449 -52| -11.6 55.9 58.7| -2.8 228 275 47 -17.1 14 10 41 40.0
JE i ) 147 262 -115| -43.9 126 214 -88] —-41.1 85.7 81.7 4.0 107 123 -16| -13.0 9 10 -1 -10.0
- > 11 2,215 2,561 -346| -13.5 821 904 -83| -9.2 37.1 35.3 1.8 654 667 -13] -1.9 113 86 27 314
¥ 2H 1 B BEOHEEH
2 FHN - AR LD HERS
TR

70,000 100% 8,000 100% 18,000 100%
60.000 4 90% 7,000 f 90% 16,000 90%
4 80% 4 80% 80%
/\\/ o
" 40,000 1 6% " oo il GE’% " 10,000 i 6%
20,000 4 30% y 30% 6,000 30%
1 20% 2000 20% 4,000 20%
10,000 I:l I:l E 10% 1,000 l 10% 2,000 10%
0 H30 [ RI Re | % 0 H30 | RI Re | " " HI4 | H28 [ H20 [ H30 | Ri rR2 | "

B RS | 59,330 | 17,107 | 15,982 | 14,311 | 14,160 | 11,726 BRI | 7,139 | 1,141 | 1,044 | 855 831 561 EE R EPESR | 16,637 | 4,484 | 4,077 | 3,430 | 3,333 | 2,646

R R 4 | 13,424 | 6,792 | 6,501 | 6,182 | 6,459 | 6,104 B R4 | 2,273 | 640 466 684 506 481 =R 952 295 303 256 215 327

B2 NE | 8,519 | 4,989 | 4,655 | 4,440 | 4,493 | 4,206 EED R ANE | 320 134 109 118 139 130 EED R NE | 825 227 209 153 142 146

=R 22.6 | 39.7 | 40.7 | 43.2 | 456 | 52.1 ==z R 31.8 | 56.1 | 44.6 | 80.0 | 60.9 | 85.7 =R 5.7 6.6 7.4 7.5 6.5 12.4
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(BB RRE )
B K o K T S m % A A 55 b &
koo R2 R1 WO R2 R1 WO R2 Rl B4 R2 R1 o R2 R1 O
I~12H 1~128 %% £ |[1~128 1~128 %% £ |[1~128 1~128 TN 1~128 1~12B A B = |1~12H 1~12H A B | =
& B K x| 11,726 14,160 -2,434 -17.2] 6,104 6,459 -355| —-5.5| 52.1| 45.6 6.5 4,206/ 4,493 287 -6.4 450 481 -31| —-6.4
g i 72 L SB[ 5,484 7,047 -1,563 -22.2| 1,839 1,663 176 10.6f 33.5 23.6 9.9 701 702 -1| 0.1 158 141 170 12.1
F® D B | 2,646 3,333 —687|-20.6 327 215 112 52.1 12.4 6.5 5.9 146 142 4 2.8 74 65 9 13.8
H @) # K 25 41 -16 -39.0 22 27 -5/ —18.5 88.0 65.9 22.1 13 11 2 18.2 3 1 2 200.0
bl VAN 7S 118 126 -8/ -6.3 31 23 8 34.8] 26.3 18.3 8.0 16 12 41 33.3 14 10 41 40.0
H #5 ®# &| 2,503 3,166 663 —20.9 274 165 109 66.1f 10.9 5.2 5.7 117 119 -2 —1.7 57 54 3 5.6
#7 B S0 ZB| 1,897 2,412 515 -21.4 746 628 118 18.8] 39.3) 26.0 13.3 213 209 4 1.9 23 32 -9| -28.1
i S GRS 5 1 4 400.0 4 4 — 80.0 0.0 80.0 7 7 — 5 5 —
O - =< Db 4 8 =41 -50.0 3 -31-100.0 0.0 37.5 -37.5 3 -31-100.0
P 5} 33 42 -9/ -21.4 30 29 1 3.4] 90.9 69.0 21.9 37 28 9 32.1 5 18 -13 -72.2
H E Rk 418 477 -59| -12.4 132 2941 -162 -55.11 31.6/ 61.6 —30.0 46 36 100 27.8 2 4 -2/ -50.0
HE RO 39 2100 -171 -81.4 372 34 3381 994.11 953.8 16.2 937.6 2 1 11 100.0
78 W HH B S| 1,398 1,674 276 -16.5 208 268 -60| -22.41 14.9 16.0) —1.1 121 141 -20/ -14.2 11 10 1 10.0
2 N 58 - 85 & 826 1,129 -303 —26.8 660 688 =28 4.1l 79.9 60.9 19.0 264 239 25 10.5 52 23 29 126.1
(E NI S 5 9 -4 -44.4 7 8 -1/ -12.51 140.0 88.9| 51.1 12 5 71140.0 1 1 —
(EIV N IS 561 831 270 -32.5 481 506 =25 4.9 85.7 60.9 24.8 130 139 -9/ -6.5 12 12 0 0.0
= X K 206 356 —150 -42.1 181 238 =571 -23.91 87.9 66.9 21.0 53 49 4 8.2 8 6 2 33.3
A A A 80 90 =10/ -11.1 99 33 66 200.0] 123.8 36.7| 87.1 9 9 0 0.0 1 -1/-100.0
&z X 24 33 -9/ -27.3 12 4 8/ 200.01 50.00 12.1 37.9 5 2 31 150.0
O Ml 251 352 -101 -28.7 189 231 -42 —-18.2| 75.3 65.6 9.7 63 79 -16 -20.3 4 5 -11-20.0
FE E R A 260 289 -29|/ -10.0 172 174 -2 -1.1| 66.2 60.2 6.0 122 95 27 28.4 39 11 28 254.5
P A0 Ik 115 173 —58| -33.5 106 132 -26 —19.7 92.2 76.3 15.9 78 112 =341 -30.4 9 21 -12| -57.1
i v 28 46 -18| -39.1 26 44 -18/ -40.91 92.9/ 95.7 -2.8 21 46 -25/ -54.3 3 12 -9 -75.0
R il oV E D 87 127 -40) -31.5 80 88 -8 9.1 92.0 69.3 22.7 57 66 -9/ -13.6 6 9 -3/ -33.3
(ZFDfDILTEY
o a5 » 119 148 -29|/ -19.6 38 15 231 153.31 31.9 10.1 21.8 10 6 41 66.7 4 5 -1/ -20.0
7F # 627 683 -56 —8.2 328 381 -53 —13.91 52.3 55.8 -3.5 169 208 -39 -18.8 13 7 6 85.7
b5 A B 4 B AE 304 344 -40| -11.6 244 266 =22 -8.3| 80.3 77.3 3.0 237 248 -11] -4.4 43 49 -6 -12.2
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(A B REE )
e H M VA DA ooz F % N B
X 93 R2 R1 Bk R2 R1 O R2 R1 | # % [ R2 R1 RS
I~128 1~128) % R [1~128 1~128 {4 % F |1~128 1~125 ) "V 1~12H1~12)0 A B
JHvE L ke #]11,726114,160 -2,434] -17.2] 6,104 6,459] -355 5.5 52.11 45.6 6.5] 4,206 4,493 —-287| -6.4
T 177 237 -60| —25.3 170 195 -25 —12.8] 96.0/ 82.3 13.7 149 161 -12| -7.5
mOE OO U 594 889 295 -33.2 507 543 -36/ —6.6] 85.4 61.1 24.3 148 159 -11/ 6.9
X o= 30 83 104 =21 =20.2 83 98 —15/ —15.3] 100.0/ 94.2 5.8 87 87 0 0.0
PN 17 15 2 13.3 18 14 4| 28.6] 105.9 93.3 12.6 18 12 6 50.0
TR 20 22 -2/ 9.1 21 19 2 10.5[ 105.0/ 86.4 18.6 33 15 18] 120.0
IRATRE 5 9 -4 -44.4 7 8 -1 —-12.5( 140.0/ 88.9 5I.1 12 5 7! 140.0
& iR 5 1 4] 400.0 4 4 —| 80.0 0.0, 80.0 7 7 —
FDfth, 10 12 -2 —-16.7 10 11 -1 -9.1f 100.0/ 91.7 8.3 14 10 4 40.0
ek 18 21 -3 —14.3 18 21 -3 —14.3( 100.0/ 100.0 0.0 15 14 1 7.1
i) AT A 28 46 -18] —39.1 26 44 -18 —-40.9] 92.9 95.7 -2.8 21 46 -25| —54.3
L 2= 0] 1,095 1,237 -142 -11.5 969 1,066 97 9.1 88.5 86.2 2.3 977 1,048 —71| -6.8
K#sEfRES
AT 534 658 124 —18.8 476 574 -98 —17.1| 89.1 87.2 1.9 468 557 -89| -16.0
G EERSE 441 443 -2/ 0.5 393 381 12 3.1 89.1 86.0 3.1 419 395 24 6.1
il 87 94 -7 -74 70 82 -12) —14.6f 80.5] 87.2 -6.7 53 68 -15| —22.1
2L 33 42 -9 -21.4 30 29 1 3.4] 90.9. 69.0 21.9 37 28 9 32.1
5 % L) 7,476/ 9,231 -1,755 -19.0f 3,708 3,728 20 -0.5] 49.6/ 40.4 9.2] 2,153| 2,293| —140] -6.1
BAGE 561 831] —-270| -32.5 481 506 -25 —4.9 85.7] 60.9 24.8 130 139 -9/ -6.5
ZeXH 206 356 —150] —42.1 181 238 -57) -23.9 87.9 66.9 21.0 53 49 4 8.2
DA 80 90 -10] —11.1 99 33 66 200.0f 123.8] 36.7 87.1 9 9 0 0.0
JEZEX 24 33 -9 -27.3 12 4 8 200.0f 50.00 12.1 37.9 5 2 3/ 150.0
ATMHZY
& JERRY 12 17 -5 —29.4 5 15 -10] -66.7| 41.7 88.2 -46.5 3 7 -4 -57.1
R L 3 2 1 50.0 1 15 -14] -93.3| 33.3] 750.0 -716.7
L 1 3 -2 —66.7 3 -3/-100.0 0.0 100.0/-100.0
FRIMATRL 4 -41-100.0 1 13 -12] -92.3 — 325.0 — 1 2 -1/ -50.0
FHHTRL 46 99 -53] —53.5 48 53 -5 —9.4[ 104.3] 53.5 50.8 11 10 1 10.0
HERL 67 109 —42| —-38.5 56 63 -7 —-11.1| 83.6/ 57.8 25.8 5 11 -6/ -54.5
HRERL 10 17 -7 —41.2 3 6 -3/ -50.0f 30.0/ 35.3 5.3 2 1 1 100.0
BEFL 35 39 -4 -10.3 25 28 -3 —-10.7( 71.4 71.8 0.4 19 15 4 26.7
ZOMR AL 77 62 15 24.2 50 35 15 42.9] 64.9 56.5 8.4 22 33 -11] -33.3
RO 2,646 3,333 687 —20.6 327 215 112) 52.1| 12.4 6.5 5.9 146 142 4 2.8
HEhH % 25 41 -16/ -39.0 22 27 -5 —18.5| 88.0/ 65.9 22.1 13 11 2 18.2
=R 118 126 -8 6.3 31 23 8 34.8] 26.3 18.3 8.0 16 12 4 33.3
EEE RS 2,503 3,166/ —-663 —20.9 274 165 109, 66.1] 10.9 5.2 5.7 117 119 -2 -1.7
FERAGE 4,269| 5,067 798 -15.7| 2,900| 3,007 107 -3.6| 67.9/ 59.3 8.6] 1,877 2,012 —135 6.7
% 93 87 6 6.9 118 95 23 24.2| 126.9] 109.2 17.7 4 9 -5/ -55.6
ATMARH
JRE D 7 16 -9/ -56.3 3 3 0 0.0 42.9/ 18.8 24.1 1 1 —
Oo72<Y 4 8 -4 -50.0 3 -3/-100.0 0.0, 37.5 -37.5 3 -3/-100.0
ER) 4 9 -5/ —55.6 4 7 -3 —42.9( 100.0/ 77.8 22.2 5 6 -1 -16.7
[EGIES 95 128 -33] —25.8 38 48 -10] -20.8 40.0/ 37.5 2.5 33 36 -3/ 8.3
RIS a0 17 20 -3/ —-15.0 3 4 -1 -25.0( 17.6/ 20.0 -2.4 2 4 -2/ -50.0
HERbn 418 477 -59| -12.4 132 294 -162| -55.1] 31.6/ 61.6/ —30.0 46 36 10, 27.8
B dm s 119 148 -29| -19.6 38 15 23 153.3 31.9/ 10.1 21.8 10 6 4 66.7
H B FE RS 39 2100 —-171| -81.4 372 34 3381 994.1] 953.8 16.2 937.6 2 1 1 100.0
fERH 87 130 —43] —-33.1 46 41 5 12.2 52.9 31.5, 21.4 19 12 7/ 58.3
WEIRS 1,998 2,128/ -130 -6.1| 1,545 1,741 -196 —11.3| 77.3] 81.8, -4.5] 1,300 1,432 -132 -9.2
Z DA, 1,388 1,706/ —-318 —18.6 601 722, —121] —16.8] 43.3] 42.3 1.0 455 467 -12| 2.6
3] He A0 710 765 =55 =72 397 449 —52| —11.6] 55.9/ 58.7 -2.8 228 275 —47| -17.1
FEHK 627 683 -56/ -8.2 328 381 -53] —13.9] 52.3] 55.8 -3.5 169 208 -39| —18.8
HEAE 35 34 1 2.9 21 33 -12] -36.4| 60.0, 97.1] -37.1 20 30 -10] -33.3
1A1s 47 48 -1 2.1 47 35 12 34.3[ 100.0/ 72.9 27.1 35 37 -2/ 54
15k 1 1 — 1 1 — 100.0 — 4 4 —
HiE
JE| e 30 147 262 —-115| -43.9 126 214 —88| —41.1| 85.7| 81.7 4.0 107 123 -16| —-13.0
Jif e 2 75 -73] -97.3 2 75 -731 —-97.3( 100.0/ 100.0 0.0 13 14 -1 -7.1
RV D 87 127 -40| -31.5 80 88 -8 9.1 92.0/ 69.3 22.7 57 66 -9 -13.6
AR AR 58 60 -2 —3.3 44 51 -7 —13.70 75.9 85.00 -9.1 37 43 -6 —14.0
WOk L = o ] 2,215] 2,661 -346] —-13.5 821 904 -83] —9.2| 37.1] 35.3 1.8 654 667 -13| -1.9
5 A Bl R A 304 344 -40| -11.6 244 266 -22) -8.3| 80.3 77.3 3.0 237 248 -11| -4.4
EH BB 9 15 -6/ —40.0 10 14 -4 -28.6( 111.1] 93.3 17.8 14 18 —4| -22.2
N 63 46 17 37.0 61 45 16, 35.6] 96.8/ 97.8 -1.0 43 35 8 22.9
Kk 15 11 4] 36.4 15 7 8 114.3[ 100.0, 63.6, 36.4 17 7 101 142.9
FEREAN 260 289 -29| -10.0 172 174 -2 1.1 66.2] 60.2 6.0 122 95 27 28.4
pEis i e 9 14 -5 —35.7 7 13 -6 —46.2| 77.8) 92.9] -15.1 6 12 -6/ -50.0
W B 153 - N B 5e B 7 6 1 16.7 7 9 -2 —22.2| 100.0/ 150.0. -50.0 5 8 -3/ -37.5
P ki 1,398 1,674, 276 -16.5 208 268 -60| —22.41 14.9 16.0] -1.1 121 141 -20] —-14.2
Z D, 150 162 -12 7.4 97 108 -11 —-10.2| 64.7 66.7 -2.0 89 103 -14| -13.6
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B 2E N BODHE | b F k E
X 93 R2 R1 O R2 RI | #8 &k
1~1281~12H| N B | = |1~12H |1~128| K4/
JH kL R B 450 481 -31 —-6.4| 10.7/ 10.7 0.0
T 19 23 -4 -17.4( 12.8/ 14.3 -1.5
mOE OO U 17 13 4/ 30.8] 11.5 8.2 3.3
X o= 30 13 13 0 0.0 14.9 14.9 0.0
PN 0.0 0.0 0.0
TR 8 1 71 700.0f 24.2 6.7 17.5
IRATRE 1 1 — 8.3 0.0 8.3
& aRds 5 5 —| 71.4 —
a2l 2 1 1 100.0f 14.3 10.0 4.3
ek 2 2 —| 13.3 0.0, 13.3
5@%’”&5& 3 12 -9 -75.00 14.3] 26.1 -11.8
*ﬂ A0 80 98 -18| —-18.4 8.2 9.4 -1.2
ﬁﬁ%A
%'%TT 23 33 -10] -30.3 4.9 5.9 -1.0
GE EEBSE 46 39 7 179 11.0 9.9 1.1
%JE 6 8 -2/ -25.0( 11.3] 11.8 0.5
2L 5 18 -13 —-72.2| 13.5/ 64.3 —-50.8
5 % A0 221 264 —-43] -16.3] 10.3| 11.5] -1.2
BAGE 12 12 0 0.0 9.2 8.6 0.6
ZexB 8 6 2 33.3| 15.1 12.2 2.9
AIAS 1 -1/-100.0 0.0/ 11.1] —-11.1
JRAEX 0.0 0.0 0.0
ATMHZY
& AR Y 0.0 0.0 0.0
FROTEL
Pl
FRATRL 0.0 0.0 0.0
FHIL 0.0 0.0 0.0
HEFRL 3 -3/-100.0 0.0, 27.3 -27.3
HRERL 1 1 — 50.0 0.0, 50.0
BERL 1 1 0 0.0 5.3 6.7 -1.4
ZOMIR AL 2 1 1 100.0 9.1 3.0 6.1
RO 74 65 9 13.8] 50.7 45.8 4.9
HEhH % 3 1 21 200.0f 23.1 9.1 14.0
A=A 14 10 4/ 40.0] 87.5 83.3 4.2
EEE RS 57 54 3 5.6 48.7 45.4 3.3
FERAGE 135 187 -52| —27.8 7.2 9.3] -2.1
% 3 -3/-100.0 0.0, 33.3 -33.3
ATMAH
JRE D 0.0 —
O 7=<Y 0.0 —
EN) 2 2 —| 40.0 0.0, 40.0
[EGIES 4 4 0 0.0 12.1] 11.1 1.0
IR a0 3 -3/-100.0 0.0, 75.00 -75.0
HERbn 2 4 -2/ =50.0 4.3 11.1. -6.8
Edh s 4 5 -1 -20.0f 40.0/ 83.3 -43.3
EEUIT - YAV 0.0 0.0 0.0
fERH 1 1 0 0.0 5.3 8.3 -3.0
ThlE 90 131 -41] -31.3 6.9 9.1 -2.2
%@ﬂﬂ 32 36 -4 —11.1 7.0 7.7 -0.7
3] He A0 14 10 4 40.0 6.1 3.6 2.5
FEHK 13 7 6 85.7 7.7 3.4 4.3
HEAE 0.0 0.0 0.0
1A1s 1 3 -2 —66.7 2.9 8.1 -5.2
151k 0.0 —
HiE
JEL e 30 9 10 =1 =10.0 8.4 8.1 0.3
[ 0.0 0.0 0.0
RV D 6 9 -3 —-33.3| 10.5 13.6] -3.1
AR AR 3 1 2 200.0 8.1 2.3 5.8
| 3 30 = o 113 86 27 31.4 17.3] 12.9 4.4
5 A Bl R A 43 49 -6 —-12.2( 18.1] 19.8 -1.7
W BB 1 -1/-100.0 0.0 5.6/ 5.6
N 1 1 0 0.0 2.3 29 -0.6
Kk 0.0 0.0 0.0
FEREA 39 11 28 254.5( 32.00 11.6. 20.4
pEis i e 3 -3/-100.0 0.0, 25.00 -25.0
W B 153 - N B 5e B 1 -1/-100.0 0.0, 12.5 -12.5
E ki 11 10 1 10.0 9.1 7.1 2.0
Z D 19 10 9 90.0f 21.3 9.7 11.6
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EREN RA - BREKR

(AR E )

RoOom K Boo¥ O K B mo% A B 5By b &
x5 R2 R1 o R2 R1 o R2 Rl | #8 ® | R2 R1 o R2 R1 O
1~12H 1~12H| # % F|1~120 1~128] 1 % % |1~1281~128 BAUM1~128 1~12H A B £ [1~128 1~120 AN B R

BN e %] 11,726 14,160 —2,434 -17.2| 6,104 6,459 355 5.5 52.1  45.6 6.5 4,206 4,493 -287 6.4 450 481 -31| -6.4
AR o g 1,772 2,073|  -301 —14.5| 1,105 797 308 38.6] 62.4 384 24.0 537 538 -1 -0.2 39 44 -5 -11.4
R OH 737 795 -58  -7.3 386 319 67 21.0] 52.4 40.1 12.3 248 235 13 5.5 33 38 -5 -13.2
= 865 1,229 364 -29.6 461 532 -71  -13.3] 53.3  43.3  10.0 317 376 59 -15.7 30 44 -14 -31.8
=] 811 1,189 -378 -31.8 359 538 -179 -33.3] 44.3 452 0.9 278 402 -124 -30.8 20 28 -8 -28.6
7 e M 858 993 -135 ~-13.6 346 429 -83 -19.3] 40.3  43.2 2.9 264 267 -3 -1.1 52 29 23 79.3
7z e dk 405 481 -76  -15.8 174 235 -61 -26.0] 43.0 48.9 5.9 133 167 34 -20.4 15 18 -3 -16.7
1 1A 398 489 -91 -18.6 188 195 -7 -3.6] 47.2  39.9 7.3 130 153 23 -15.0 7 16 -9 -56.3
11 H 440 505 -65 -12.9 207 221 14 -6.3] 47.0 43.8 3.2 124 130 -6 4.6 16 9 70 77.8
RS = T 365 378 13 -34 211 230 -19  -8.3] 57.8 60.8 -3.0 151 156 -5/ -3.2 21 19 2 10.5
KX (1 90 147 57 -38.8 68 88 20 -22.71 75.6 59.9  15.7 59 60 -1 1.7 14 6 8 133.3
(L 23 57 54 3 5.6 29 20 9 45.00 509 37.0 13.9 28 21 7 33.3 1 -1 -100.0

=3 451 487 -36 7.4 297 280 17 6.1] 65.9/ 575 8.4 206 224 -18  -8.0 13 21 -8 -38.1

i 287 323 -36 -11.1 128 142 14 -9.9| 44.6 44.0 0.6 98 114 -16 -14.0 7 13 -6 -46.2
AN £ I = 72 52 20 38.5 51 43 8 18.6] 70.8/ 827 -11.9 43 35 8 229 2 3 -1 -33.3
W A B 695 804 -109 -13.6 291 283 8 2.8] 41.9] 35.2 6.7 212 212 0 0.0 16 22 -6 -27.3
7 J& 78 100 -22 -22.0 47 58 -11 -19.0] 60.3  58.0 2.3 39 50 -11 -22.0 3 3 0 0.0
Bl B 1,225 1,549 324 -20.9 571 660 -89 -13.5| 46.6 42.6 4.0 450 464 -14 -3.0 52 65 -13 -20.0
N T ] 382 468 -86 -18.4 169 139 30 21.6] 44.2 29.71 145 123 99 24| 24.2 15 15 0 0.0
m o ke 512 524 12/ -2.3 269 301 -32 -10.6] 52,5 574  -4.9 209 217 -8  -3.7 35 25 10 40.0
)22 H 401 486 -85 -17.5 228 234 -6 -2.6] 56.9 48.1 8.8 173 164 9 5.5 26 14 12 85.7
= A 401 587 -186 -31.7 232 346, -114 -32.9] 579 589 -1.0 177 208 -31 -14.9 13 30 -17  -56.7
¥ th 111 116 -5 4.3 76 81 -5 -6.2| 68.5 69.8 -1.3 66 62 4 6.5 5 10 -5 -50.0
= b/ 142 120 22/ 18.3 80 107 -27 -25.2| 56.3 89.2 -32.9 59 51 8 15.7 6 2 200.0
E & 81 85 -4 4.7 62 57 5 8.8 76.5 67.1 9.4 46 46 0 0.0 8 2 6 300.0
7= E OH 53 58 -5/ -8.6 31 94 -63  -67.0] 58.5 162.1 -103.6 22 27 -5/ -18.5 1 -1 -100.0
it HE 37 68 -31 -45.6 38 30 8 26.7| 102.7 44.1  58.6 14 15 -1 -6.7 2 3 -1 -33.3
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